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Divide Fractions

Reciprocals are numbers whose product is 1.
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Step 1: You can use reciprocals to help you Step 2: Flip the fraction to find the reciprocal
divide fractions. of the divisor.
4.2 i 2D
575 The reciprocal of5 is 2.
Step 3: Write the division problem as a Step 4: Simplify. Multiply if possible.
multiplication problem. 4 and 2 can both be divided by 2.
l l 5 X 2 1
4 % 5_ (4X5) oot
5 27 (5x2) 4.2
575 2
Find the reciprocal of each number.
5 12 2
1. 9 2. 7 3. 5 3 4. 8
Find each quotient. Write each quotient in simplest form.
3.2 5.1 S . .2
5.5-3 6'8'8 7.3-6 8.5-9
5.1 17 . 3.4 -6
9.12-4 10.5-2 11.4-3 12.12-5
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Solving
Divide Fractions 6.4

Solve Problems 1-5.

When planting trees in a forest, the U.S. Forest Service recommends
giving each seedling about ﬁ acre on which to grow.

Show Your Work
1. About how many seedlings should be

planted in % of an acre?

2. About how many seedlings should be
planted in % of an acre?

3. Isaac’s neighborhood is planting a small forest
on % acre. Isaac sets up this division problem to
decide how many seedlings to purchase:

1 1
4 acre — 200
He explains, “To divide, you can multiply by the
. . 4 _ 200
reciprocal. So you multiply 3 X =3~ The answer
is 81ﬂ, or 800”. Why is Isaac’s answer incorrect?

4. Some experts recommend giving each seedling
3;—0 acre. How1many more seedlings would be
required for a 5 acre plot if planters use this
recommendation instead of the U.S. Forest
Service guidelines?

5. Can a forest that is % acre be divided into
1
an even number of plots that are - acre?
Explain how you know.
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